
Toutes les Opérations (J)Calculez chaque somme, différence, produit, ou quotient.13 × 1 = 15 + 3 = 16 ÷ 2 = 17 - 14 =15 - 10 = 14 × 5 = 7 × 6 = 3 - 2 =28 ÷ 4 = 20 - 15 = 15 × 2 = 3 ÷ 1 =3 × 2 = 13 + 3 = 1 + 2 = 14 - 1 =20 ÷ 10 = 15 - 11 = 108 ÷ 9 = 13 + 6 =35 ÷ 5 = 9 × 12 = 2 × 2 = 14 - 13 =10 + 15 = 9 - 4 = 11 - 9 = 3 × 2 =78 ÷ 6 = 5 + 3 = 21 - 12 = 156 ÷ 12 =22 ÷ 2 = 3 + 12 = 18 - 5 = 7 + 13 =6 + 7 = 8 ÷ 1 = 15 + 11 = 15 - 13 =17 - 7 = 11 × 13 = 33 ÷ 11 = 196 ÷ 14 =11 - 8 = 156 ÷ 13 = 15 + 6 = 10 + 6 =25 - 14 = 12 - 3 = 24 - 12 = 14 × 1 =20 ÷ 10 = 48 ÷ 12 = 64 ÷ 8 = 14 × 13 =15 + 9 = 36 ÷ 6 = 13 + 11 = 23 - 12 =11 + 15 = 32 ÷ 8 = 8 × 5 = 7 + 9 =8 + 2 = 12 - 9 = 8 × 9 = 3 × 15 =121 ÷ 11 = 9 - 6 = 56 ÷ 8 = 12 - 1 =12 × 11 = 12 × 15 = 108 ÷ 12 = 1 + 8 =5 × 5 = 9 × 9 = 11 × 13 = 50 ÷ 10 =16 - 3 = 1 × 4 = 78 ÷ 6 = 9 × 7 =105 ÷ 15 = 1 + 15 = 15 ÷ 5 = 9 + 2 =19 - 9 = 5 + 14 = 4 × 1 = 15 × 9 =154 ÷ 14 = 13 - 3 = 28 ÷ 4 = 39 ÷ 13 =28 - 14 = 7 × 1 = 3 + 14 = 7 - 1 =Mathslibres.com



Toutes les Opérations (J) RéponsesCalculez chaque somme, différence, produit, ou quotient.13 × 1 = 13 15 + 3 = 18 16 ÷ 2 = 8 17 - 14 = 315 - 10 = 5 14 × 5 = 70 7 × 6 = 42 3 - 2 = 128 ÷ 4 = 7 20 - 15 = 5 15 × 2 = 30 3 ÷ 1 = 33 × 2 = 6 13 + 3 = 16 1 + 2 = 3 14 - 1 = 1320 ÷ 10 = 2 15 - 11 = 4 108 ÷ 9 = 12 13 + 6 = 1935 ÷ 5 = 7 9 × 12 = 108 2 × 2 = 4 14 - 13 = 110 + 15 = 25 9 - 4 = 5 11 - 9 = 2 3 × 2 = 678 ÷ 6 = 13 5 + 3 = 8 21 - 12 = 9 156 ÷ 12 = 1322 ÷ 2 = 11 3 + 12 = 15 18 - 5 = 13 7 + 13 = 206 + 7 = 13 8 ÷ 1 = 8 15 + 11 = 26 15 - 13 = 217 - 7 = 10 11 × 13 = 143 33 ÷ 11 = 3 196 ÷ 14 = 1411 - 8 = 3 156 ÷ 13 = 12 15 + 6 = 21 10 + 6 = 1625 - 14 = 11 12 - 3 = 9 24 - 12 = 12 14 × 1 = 1420 ÷ 10 = 2 48 ÷ 12 = 4 64 ÷ 8 = 8 14 × 13 = 18215 + 9 = 24 36 ÷ 6 = 6 13 + 11 = 24 23 - 12 = 1111 + 15 = 26 32 ÷ 8 = 4 8 × 5 = 40 7 + 9 = 168 + 2 = 10 12 - 9 = 3 8 × 9 = 72 3 × 15 = 45121 ÷ 11 = 11 9 - 6 = 3 56 ÷ 8 = 7 12 - 1 = 1112 × 11 = 132 12 × 15 = 180 108 ÷ 12 = 9 1 + 8 = 95 × 5 = 25 9 × 9 = 81 11 × 13 = 143 50 ÷ 10 = 516 - 3 = 13 1 × 4 = 4 78 ÷ 6 = 13 9 × 7 = 63105 ÷ 15 = 7 1 + 15 = 16 15 ÷ 5 = 3 9 + 2 = 1119 - 9 = 10 5 + 14 = 19 4 × 1 = 4 15 × 9 = 135154 ÷ 14 = 11 13 - 3 = 10 28 ÷ 4 = 7 39 ÷ 13 = 328 - 14 = 14 7 × 1 = 7 3 + 14 = 17 7 - 1 = 6Mathslibres.com


